<hthnplipwjhG Jupyuynpiw6 htin Juuywd pGnhwlnp Swuubp

{wjnh hwiwp Ydwp, wyn pymy upluyhG qtinyg

3,000 << npw

‘Unnuwpuljwl Jugbpugmyd (Jtpw npngnid-
wnmywwnp)

15,000 << nnuvt (qpuuy), 20.000 << nnud (wemjwdwnp L
qpuy)

GunuwumpuwjhG YdwnGhp (tpwGnpngnid-
wnnijwdwnp)

26,400 << npuvt (qpuuy) -72,000 << npud (wemyudwnp L
qpuiy)

Q-niph qGwhwumdwb Jdwp 18,000 << npuud

Juwinyh dLbwlbpudwb Ydwn, wyn pynud

hpuwjwpwGuljuwb dwhiubkp Jwnlh gnudwiph 1%, puyg ns wuluu 75,000 £ npunt
Uduwlywl qupdu]Gwup 1,700 << ppud

Q-niph wywhmyqpnipjn G Q-nijph wpdbiph 0.15%

Qdpujun yjumwhwpitphg yuplueniGtph
wwwhnjuwqpnipjnll

Jwnlyh gouiwiph 0.15%




